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Police Recruitment Test : 2016
7th September 2016, 09:00 AM

Topic:­ English
1)

Question Stimulus :­

Fill in the blank with the correct option.

Each individual _____ help to stop pollution of the environment.

must

may

dare

might

Correct Answer :­must 

2)

Question Stimulus :­

Fill in the blank with the correct option.

I _____ caught the bus if I had hurried.

could have

can have

cannot have

could not have

Correct Answer :­could have 

3)

Question Stimulus :­

Fill in the blank with the correct option.

You _______ introduce yourself; he might not remember you.

should

(2)
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can

could

may

Correct Answer :­should 

4)

Question Stimulus :­

Fill in the blank with the correct preposition.

Voting took place peacefully ______ most of the country.

across

besides

into

for

Correct Answer :­across 

5)

Question Stimulus :­

Fill in the blank with the correct preposition.

They walked slowly ______ the woods.

through

under

above

for

Correct Answer :­through 

6)

Question Stimulus :­

Fill in the blank with the correct preposition.

The author's wife was a good editor, ______ being a great writer herself.

(3)
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besides

by

with

on

Correct Answer :­besides 

7)

Question Stimulus :­

Fill in the blank with the correct preposition.

He is much _____ me ____ rank.

between, in

with, for

into, for

below, in

Correct Answer :­below, in 

8)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

I have a life insurance policy that will take care

of my family

if disaster strike.

No Error

Correct Answer :­if disaster strike. 

9)

Question Stimulus :­
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DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

The UN have withdrawn

its troops

from the country.

No Error

Correct Answer :­The UN have withdrawn 

10)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

If it had snowed yesterday,

the boys would have

definitely gone for skiing.

No Error

Correct Answer :­No Error 

11)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Her car went out of control

and strike an

oncoming vehicle.

No Error

Correct Answer :­and strike an 

12)
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12)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

A lot of shops won't accept cheques,

unless you don’t have

a banker's card with you.

No Error

Correct Answer :­unless you don’t have 

13)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

As soon as we will get

the tickets,

we'll send them to you.

No Error

Correct Answer :­As soon as we will get 

14)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

A home computer is one of

the most important inventions

of our generation.

No Error

(6)
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Correct Answer :­A home computer is one of 

15)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Mr. Roy’s youngest son

is fond of

playing a harmonium.

No Error

Correct Answer :­playing a harmonium. 

16)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Jack said, “I bought this pearl for my mother.”

Jack said that he bought this pearl for his mother.

Jack said that he bought that pearl for his mother.

Jack said that he has bought that pearl for his mother.

Jack said that he had bought that pearl for his mother.

Correct Answer :­Jack said that he had bought that pearl for his mother. 

17)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

“Please give me something to eat. I am hungry” the old woman said to the boys.

The old woman requested the boys to give her something to eat and said that she
is hungry.

(7)
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The old woman requests the boys to give her something to eat and said that she
is hungry.

The old woman requested the boys to give her something to eat and says that she
is hungry.

The old woman requested the boys to give her something to eat and said that she
was hungry.

Correct Answer :­The old woman requested the boys to give her something to eat and
said that she was hungry. 

18)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

He said, “I can speak four languages”.

He boasted that he will be able to speak four languages.

He boasted that he can speak four languages.

He boasted that he would speak four languages.

He boasted that he could speak four languages.

Correct Answer :­He boasted that he could speak four languages. 

19)

Question Stimulus :­

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Will my uncle pay my tuition fee?

Will my tuition fee be paid by my uncle?

Can my tuition fee be paid by my uncle?

Should my tuition fee be paid by my uncle?

Would my uncle pay my tuition fee?

Correct Answer :­Will my tuition fee be paid by my uncle? 

20)
(8)
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Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

By whom were you given these orders?

Who gave you these orders?

Who has given you these orders?

Who had given you these orders?

Who was giving you these orders?

Correct Answer :­Who gave you these orders? 

21)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

The fields are being ploughed by the farmers.

The fields have been ploughed by the farmers.

The farmers have been ploughing the fields.

The farmers are ploughing the fields.

The farmers have ploughed the fields.

Correct Answer :­The farmers are ploughing the fields. 

22)

Question Stimulus :­

Choose the grammatically correct sentence out of the given options.

Romila is wearing a black and white saree.

Romila is wearing a black and a white saree.

Romila is wearing a black and the white saree.

Romila is wearing an black and white saree.

(9)
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Correct Answer :­Romila is wearing a black and white saree. 

23)

Question Stimulus :­

Fill in the blank with the correct option.

He didn’t earn much money, and he gambled away ____ he had saved.

little

a little

the little

some

Correct Answer :­the little 

24)

Question Stimulus :­

Fill in the blank with the correct option.

There is _____ time to prepare for the exams.

little

few

the little

a few

Correct Answer :­little 

25)

Question Stimulus :­

Fill in the blank with the correct option.

I have _____ money, so I will be able to lend you some.

little

a little

the little

(10)
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a few

Correct Answer :­a little 

26)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the questions that
follow.

It is not luck but labour that makes men. Luck says an American writer, is ever waiting
for something to turn up, labour with keen eyes and strong will always turns up
something. Luck lies in bed and wishes the postman would bring him news of a legacy;
labour turns out at six and with busy pen and ringing hammer lays the foundation of
competence. Luck whines, labour watches. Luck relies on chance, labour on character.
Luck slips downwards to self­indulgence; labour strides upwards and aspires to
independence. The conviction, therefore, is extending that diligence is the mother of
good luck; in other words, that a man’s success in life will be proportionate to his
efforts, to his industry, to his attention to small things.

 

What is the meaning of the word ‘legacy’?

A sad or disappointing news.

Bankruptcy or misfortune.

Money or property left to someone in a will.

None of the above.

Correct Answer :­Money or property left to someone in a will. 

27)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the questions that
follow.

It is not luck but labour that makes men. Luck says an American writer, is ever waiting
for something to turn up, labour with keen eyes and strong will always turns up
something. Luck lies in bed and wishes the postman would bring him news of a legacy;
labour turns out at six and with busy pen and ringing hammer lays the foundation of
competence. Luck whines, labour watches. Luck relies on chance, labour on character.
Luck slips downwards to self­indulgence; labour strides upwards and aspires to
independence. The conviction, therefore, is extending that diligence is the mother of
good luck; in other words, that a man’s success in life will be proportionate to his
efforts, to his industry, to his attention to small things.

 
(11)
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What would be the synonym of the word ‘stride’?

Retreat

March

Delay

Wait

Correct Answer :­March 

28)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the questions that
follow.

It is not luck but labour that makes men. Luck says an American writer, is ever waiting
for something to turn up, labour with keen eyes and strong will always turns up
something. Luck lies in bed and wishes the postman would bring him news of a legacy;
labour turns out at six and with busy pen and ringing hammer lays the foundation of
competence. Luck whines, labour watches. Luck relies on chance, labour on character.
Luck slips downwards to self­indulgence; labour strides upwards and aspires to
independence. The conviction, therefore, is extending that diligence is the mother of
good luck; in other words, that a man’s success in life will be proportionate to his
efforts, to his industry, to his attention to small things.

 

What is the meaning of the proverb ‘diligence is the mother of good luck’?

If a person is born in a rich and aristocratic family, he is considered lucky.

If one works carefully and constantly, one's chances of being successful will be
much greater.

Bravery brings good luck.

None of the above.

Correct Answer :­If one works carefully and constantly, one's chances of being
successful will be much greater. 

29)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the questions that
follow.

(12)
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It is not luck but labour that makes men. Luck says an American writer, is ever waiting
for something to turn up, labour with keen eyes and strong will always turns up
something. Luck lies in bed and wishes the postman would bring him news of a legacy;
labour turns out at six and with busy pen and ringing hammer lays the foundation of
competence. Luck whines, labour watches. Luck relies on chance, labour on character.
Luck slips downwards to self­indulgence; labour strides upwards and aspires to
independence. The conviction, therefore, is extending that diligence is the mother of
good luck; in other words, that a man’s success in life will be proportionate to his
efforts, to his industry, to his attention to small things.

 

According to the passage what is the most important thing for success?

Hard work

Only luck

Noble parentage

All of the above

Correct Answer :­Hard work 

30)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the questions that
follow.

It is not luck but labour that makes men. Luck says an American writer, is ever waiting
for something to turn up, labour with keen eyes and strong will always turns up
something. Luck lies in bed and wishes the postman would bring him news of a legacy;
labour turns out at six and with busy pen and ringing hammer lays the foundation of
competence. Luck whines, labour watches. Luck relies on chance, labour on character.
Luck slips downwards to self­indulgence; labour strides upwards and aspires to
independence. The conviction, therefore, is extending that diligence is the mother of
good luck; in other words, that a man’s success in life will be proportionate to his
efforts, to his industry, to his attention to small things.

 

Which word in the passage means ‘to complain or express disappointment or
unhappiness repeatedly’?

Whine

Keen

Aspire

(13)
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Hammer

Correct Answer :­Whine 

Topic:­ Hindi
1)

Question Stimulus :­

िन퟿଄िल甄냿खत ग댄ाशं को 위ानपवू�क पढ़कर उनके नीच ेिदय ेगय ेब엿켄िवक椄ी 猄냿樄 नो ंम냿礄 सही िवक椄 का चयन कर냿礄।

 

‘जनता के सािह錄’ का अथ� जनता को तरु ही समझ म냿礄 आन ेवाल ेसािह錄 स ेहरिगज नही ंह ैअगर ऐसा होता तो  ‘िक眄裿ा तोता
मनैा’ और नौटकंी ही सािह錄  के 猄냿धान �प होत।े सािह錄  के अदंर सा伄ंृितक भाव होत ेह�। सा伄ंृितक भावो ंको पान े के  िलए
बलुदंी बारीिक और खबूसरूती को पान ेके िलए, उस असिलयत को पान ेके िलए िजसका नぎ翰ा सािह錄 म냿礄 रहता ह,ै सनुन ेया पढ़ने
वाल ेकी  कुछ  甄냿洄थित अपिे偌�त होती ह।ै वह  甄냿洄थित ह ैउसकी  िश偌�ा, उसके मन  के सा伄ंृितक प琄裿र၏俰ार की, जबिक सािह錄 का
उꈄ樄े य सा伄ंृितक प琄裿र၏俰ार ह,ै मानिसक प琄裿र၏俰ार ह।ै

 

उपय�ु踄 ग댄ाशं का उिचत शीष�क दीिजए?

नौटकंी सािह錄 猄냿धान

सा伄ंृितक भाव

जनता के सािह錄 का अथ�

मानिसक प琄裿र၏俰ार

Correct Answer :­जनता के सािह錄 का अथ� 

2)

Question Stimulus :­

िन퟿଄िल甄냿खत ग댄ाशं को 위ानपवू�क पढ़कर उनके नीच ेिदय ेगय ेब엿켄िवक椄ी 猄냿樄 नो ंम냿礄 सही िवक椄 का चयन कर냿礄।

‘जनता के सािह錄’ का अथ� जनता को तरु ही समझ म냿礄 आन ेवाल ेसािह錄 स ेहरिगज नही ंह ैअगर ऐसा होता तो  ‘िक眄裿ा तोता
मनैा’ और नौटकंी ही सािह錄  के 猄냿धान �प होत।े सािह錄  के अदंर सा伄ंृितक भाव होत ेह�। सा伄ंृितक भावो ंको पान े के  िलए
बलुदंी बारीिक और खबूसरूती को पान ेके िलए, उस असिलयत को पान ेके िलए िजसका नぎ翰ा सािह錄 म냿礄 रहता ह,ै सनुन ेया पढ़ने
वाल ेकी  कुछ  甄냿洄थित अपिे偌�त होती ह।ै वह  甄냿洄थित ह ैउसकी  िश偌�ा, उसके मन  के सा伄ंृितक प琄裿र၏俰ार की, जबिक सािह錄 का
उꈄ樄े य सा伄ंृितक प琄裿र၏俰ार ह,ै मानिसक प琄裿र၏俰ार ह।ै

 

सािह錄 के अदंर ︃ा होता ह?ै

सा伄ंृितक भाव िनिहत होत ेहै

खबूसरूती िनिहत होती है

मानिसक प琄裿र၏俰ार िनिहत होता है
(14)
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इनम냿礄 स ेकोई नहीं

Correct Answer :­सा伄ंृितक भाव िनिहत होत ेह ै

3)

Question Stimulus :­

िन퟿଄िल甄냿खत ग댄ाशं को 위ानपवू�क पढ़कर उनके नीच ेिदय ेगय ेब엿켄िवक椄ी 猄냿樄 नो ंम냿礄 सही िवक椄 का चयन कर냿礄।

 

‘जनता के सािह錄’ का अथ� जनता को तरु ही समझ म냿礄 आन ेवाल ेसािह錄 स ेहरिगज नही ंह ैअगर ऐसा होता तो  ‘िक眄裿ा तोता
मनैा’ और नौटकंी ही सािह錄  के 猄냿धान �प होत।े सािह錄  के अदंर सा伄ंृितक भाव होत ेह�। सा伄ंृितक भावो ंको पान े के  िलए
बलुदंी बारीिक और खबूसरूती को पान ेके िलए, उस असिलयत को पान ेके िलए िजसका नぎ翰ा सािह錄 म냿礄 रहता ह,ै सनुन ेया पढ़ने
वाल ेकी  कुछ  甄냿洄थित अपिे偌�त होती ह।ै वह  甄냿洄थित ह ैउसकी  िश偌�ा, उसके मन  के सा伄ंृितक प琄裿र၏俰ार की, जबिक सािह錄 का
उꈄ樄े य सा伄ंृितक प琄裿र၏俰ार ह,ै मानिसक प琄裿र၏俰ार ह।ै

 

जनता के सािह錄 का ︃ा अथ� ह?ै

सा伄ंृितक भावो ंको पान ेकी स恎ू翰 पहचान

सा伄ंृितक प琄裿र၏俰ार की 甄냿洄थित को 猄냿ा㌄  करन ेवाला सािह錄

मानिसक प琄裿र၏俰ार की 甄냿洄थित को 猄냿ा㌄  करन ेवाला सािह錄

उपय�ु踄 सभी

Correct Answer :­उपय�ु踄 सभी 

4)

Question Stimulus :­

िन퟿଄िल甄냿खत ग댄ाशं को 위ानपवू�क पढ़कर उनके नीच ेिदय ेगय ेब엿켄िवक椄ी 猄냿樄 नो ंम냿礄 सही िवक椄 का चयन कर냿礄।

 

‘जनता के सािह錄’ का अथ� जनता को तरु ही समझ म냿礄 आन ेवाल ेसािह錄 स ेहरिगज नही ंह ैअगर ऐसा होता तो  ‘िक眄裿ा तोता
मनैा’ और नौटकंी ही सािह錄  के 猄냿धान �प होत।े सािह錄  के अदंर सा伄ंृितक भाव होत ेह�। सा伄ंृितक भावो ंको पान े के  िलए
बलुदंी बारीिक और खबूसरूती को पान ेके िलए, उस असिलयत को पान ेके िलए िजसका नぎ翰ा सािह錄 म냿礄 रहता ह,ै सनुन ेया पढ़ने
वाल ेकी  कुछ  甄냿洄थित अपिे偌�त होती ह।ै वह  甄냿洄थित ह ैउसकी  िश偌�ा, उसके मन  के सा伄ंृितक प琄裿र၏俰ार की, जबिक सािह錄 का
उꈄ樄े य सा伄ंृितक प琄裿र၏俰ार ह,ै मानिसक प琄裿र၏俰ार ह।ै

 

सािह錄 का ︃ा उꈄ樄े य ह?ै

तरुंत समझ आ जाना

सा伄ंृितक और मानिसक प琄裿र၏俰ार

(15)
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िश偌�ा

इनम냿礄 स ेकोई नहीं

Correct Answer :­सा伄ंृितक और मानिसक प琄裿र၏俰ार 

5)

Question Stimulus :­

िन퟿଄िल甄냿खत ग댄ाशं को 위ानपवू�क पढ़कर उनके नीच ेिदय ेगय ेब엿켄िवक椄ी 猄냿樄 नो ंम냿礄 सही िवक椄 का चयन कर냿礄।

 

‘जनता के सािह錄’ का अथ� जनता को तरु ही समझ म냿礄 आन ेवाल ेसािह錄 स ेहरिगज नही ंह ैअगर ऐसा होता तो  ‘िक眄裿ा तोता
मनैा’ और नौटकंी ही सािह錄  के 猄냿धान �प होत।े सािह錄  के अदंर सा伄ंृितक भाव होत ेह�। सा伄ंृितक भावो ंको पान े के  िलए
बलुदंी बारीिक और खबूसरूती को पान ेके िलए, उस असिलयत को पान ेके िलए िजसका नぎ翰ा सािह錄 म냿礄 रहता ह,ै सनुन ेया पढ़ने
वाल ेकी  कुछ  甄냿洄थित अपिे偌�त होती ह।ै वह  甄냿洄थित ह ैउसकी  िश偌�ा, उसके मन  के सा伄ंृितक प琄裿र၏俰ार की, जबिक सािह錄 का
उꈄ樄े य सा伄ंृितक प琄裿र၏俰ार ह,ै मानिसक प琄裿र၏俰ार ह।ै

 

सा伄ंृितक भावो ंको 䀀हण करन ेके िलए ︃ा ज�री ह ै?

सनुन ेवाल ेकी िश偌�ा

सनुन ेवाल ेके सा伄ंृितक प琄裿र၏俰ार

सनुन ेवाल ेके मानिसक प琄裿र၏俰ार

उपय�ु踄 सभी

Correct Answer :­उपय�ु踄 सभी 

6)

Question Stimulus :­

िन퟿଄िल甄냿खत का퟿褄ाशं को 위ानपवू�क पढ़कर उनके नीच ेिदय ेगय ेब엿켄िवक椄ी 猄냿樄 नो ंम냿礄 सही िवक椄 का चयन कर냿礄।

 

कुछ भी बन, बस कायर मत बन!

ठोकर मार, पटक मत माथा,

तरेी राह रोकत ेपाहन,

कुछ भी बन, बस कायर मत बन!

ल­ेद ेकर जीना, ︃ा जीना ?

कब तक गम के आसँ ुपीना ?

मानवता न ेसीचंा तमुको
(16)
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वहा यगुो ंतक खनू पसीना!

कुछ न करेगा? िकया करेगा­

रे मन㔄ु बस कातर 팄दन?

कुछ भी बन, बस कायर मत बन

‘यꘄु दिेह’, कह ेजब पामर,

द ेन दहुाई पीठ फेरकर !

या तो जीत 猄냿ीित के बल पर,

या तरेा पथ चमू ेत伄र !

猄냿ितिहसंा भी दबु�लता ह,ै

पर कायरता अिधक अपावन!

कुछ भी बन, बस कायर मत बन!

तरेी र偌�ा का न मोल ह,ै

पर तरेा मानव अमोल ह!ै

यह िमटता ह,ै वह बनता ह,ै

यही स錄 की सही तोल ह!ै

अप�ण कर सव�瘄裿 मनजु को,

कर न द끏ु俰 को आ踄 समप�ण।

कुछ भी बन बस कायर मत बन!

 

किव िकस ेठोकर मारन ेकी बात कहता ह?ै

पाहन

कंटक

आसँु

猄냿ितिहसंा

Correct Answer :­पाहन 

7)

Question Stimulus :­

िन퟿଄िल甄냿खत का퟿褄ाशं को 위ानपवू�क पढ़कर उनके नीच ेिदय ेगय ेब엿켄िवक椄ी 猄냿樄 नो ंम냿礄 सही िवक椄 का चयन कर냿礄।

(17)
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कुछ भी बन, बस कायर मत बन!

ठोकर मार, पटक मत माथा,

तरेी राह रोकत ेपाहन,

कुछ भी बन, बस कायर मत बन!

ल­ेद ेकर जीना, ︃ा जीना ?

कब तक गम के आसँ ुपीना ?

मानवता न ेसीचंा तमुको

वहा यगुो ंतक खनू पसीना!

कुछ न करेगा? िकया करेगा­

रे मन㔄ु बस कातर 팄दन?

कुछ भी बन, बस कायर मत बन

‘यꘄु दिेह’, कह ेजब पामर,

द ेन दहुाई पीठ फेरकर !

या तो जीत 猄냿ीित के बल पर,

या तरेा पथ चमू ेत伄र !

猄냿ितिहसंा भी दबु�लता ह,ै

पर कायरता अिधक अपावन!

कुछ भी बन, बस कायर मत बन!

तरेी र偌�ा का न मोल ह,ै

पर तरेा मानव अमोल ह!ै

यह िमटता ह,ै वह बनता ह,ै

यही स錄 की सही तोल ह!ै

अप�ण कर सव�瘄裿 मनजु को,

कर न द끏ु俰 को आ踄 समप�ण।

कुछ भी बन बस कायर मत बन!

 

किव िकस 猄냿कार के जीवन को जीवन नही ंमानता ?

खनू­पसीना बहान ेवाला जीवन

(18)
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िहसंा न करन ेवाला जीवन

र偌�ा न करन ेवाला जीवन

ल ेदकेर जीन ेवाला जीवन

Correct Answer :­ल ेदकेर जीन ेवाला जीवन 

8)

Question Stimulus :­

िन퟿଄िल甄냿खत का퟿褄ाशं को 위ानपवू�क पढ़कर उनके नीच ेिदय ेगय ेब엿켄िवक椄ी 猄냿樄 नो ंम냿礄 सही िवक椄 का चयन कर냿礄।

 

कुछ भी बन, बस कायर मत बन!

ठोकर मार, पटक मत माथा,

तरेी राह रोकत ेपाहन,

कुछ भी बन, बस कायर मत बन!

ल­ेद ेकर जीना, ︃ा जीना ?

कब तक गम के आसँ ुपीना ?

मानवता न ेसीचंा तमुको

वहा यगुो ंतक खनू पसीना!

कुछ न करेगा? िकया करेगा­

रे मन㔄ु बस कातर 팄दन?

कुछ भी बन, बस कायर मत बन

‘यꘄु दिेह’, कह ेजब पामर,

द ेन दहुाई पीठ फेरकर !

या तो जीत 猄냿ीित के बल पर,

या तरेा पथ चमू ेत伄र !

猄냿ितिहसंा भी दबु�लता ह,ै

पर कायरता अिधक अपावन!

कुछ भी बन, बस कायर मत बन!

तरेी र偌�ा का न मोल ह,ै

पर तरेा मानव अमोल ह!ै

यह िमटता ह,ै वह बनता ह,ै
(19)
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यही स錄 की सही तोल ह!ै

अप�ण कर सव�瘄裿 मनजु को,

कर न द끏ु俰 को आ踄 समप�ण।

कुछ भी बन बस कायर मत बन!

 

किव न ेअिधक अपिव搄惿 िकस ेकहा ह ै?

पाहन

कायरता

팄दन

पामर

Correct Answer :­कायरता 

9)

Question Stimulus :­

िन퟿଄िल甄냿खत का퟿褄ाशं को 위ानपवू�क पढ़कर उनके नीच ेिदय ेगय ेब엿켄िवक椄ी 猄냿樄 नो ंम냿礄 सही िवक椄 का चयन कर냿礄।

 

कुछ भी बन, बस कायर मत बन!

ठोकर मार, पटक मत माथा,

तरेी राह रोकत ेपाहन,

कुछ भी बन, बस कायर मत बन!

ल­ेद ेकर जीना, ︃ा जीना ?

कब तक गम के आसँ ुपीना ?

मानवता न ेसीचंा तमुको

वहा यगुो ंतक खनू पसीना!

कुछ न करेगा? िकया करेगा­

रे मन㔄ु बस कातर 팄दन?

कुछ भी बन, बस कायर मत बन

‘यꘄु दिेह’, कह ेजब पामर,

द ेन दहुाई पीठ फेरकर !

(20)
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या तो जीत 猄냿ीित के बल पर,

या तरेा पथ चमू ेत伄र !

猄냿ितिहसंा भी दबु�लता ह,ै

पर कायरता अिधक अपावन!

कुछ भी बन, बस कायर मत बन!

तरेी र偌�ा का न मोल ह,ै

पर तरेा मानव अमोल ह!ै

यह िमटता ह,ै वह बनता ह,ै

यही स錄 की सही तोल ह!ै

अप�ण कर सव�瘄裿 मनजु को,

कर न द끏ु俰 को आ踄 समप�ण।

कुछ भी बन बस कायर मत बन!

 

‘कुछ न करेगा? िकया करेगा­रे मन㔄ु बस कातर 팄दन’ प甄ं냿踄 म냿礄 कौन­सा भाव 猄냿मखु ह?ै

िन甄냿遏俰यता पर ퟿褄⠄ं करन ेका

कम�पथ पर आग ेबढ़न ेकी 猄냿रेणा का

बाधँाओ ंको दूर कर आग ेबढ़न ेका

िनराशा 錄ागकर 猄냿स⬀ रहन ेका

Correct Answer :­िन甄냿遏俰यता पर ퟿褄⠄ं करन ेका 

10)

Question Stimulus :­

िन퟿଄िल甄냿खत का퟿褄ाशं को 위ानपवू�क पढ़कर उनके नीच ेिदय ेगय ेब엿켄िवक椄ी 猄냿樄 नो ंम냿礄 सही िवक椄 का चयन कर냿礄।

 

कुछ भी बन, बस कायर मत बन!

ठोकर मार, पटक मत माथा,

तरेी राह रोकत ेपाहन,

कुछ भी बन, बस कायर मत बन!

ल­ेद ेकर जीना, ︃ा जीना ?

(21)
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कब तक गम के आसँ ुपीना ?

मानवता न ेसीचंा तमुको

वहा यगुो ंतक खनू पसीना!

कुछ न करेगा? िकया करेगा­

रे मन㔄ु बस कातर 팄दन?

कुछ भी बन, बस कायर मत बन

‘यꘄु दिेह’, कह ेजब पामर,

द ेन दहुाई पीठ फेरकर !

या तो जीत 猄냿ीित के बल पर,

या तरेा पथ चमू ेत伄र !

猄냿ितिहसंा भी दबु�लता ह,ै

पर कायरता अिधक अपावन!

कुछ भी बन, बस कायर मत बन!

तरेी र偌�ा का न मोल ह,ै

पर तरेा मानव अमोल ह!ै

यह िमटता ह,ै वह बनता ह,ै

यही स錄 की सही तोल ह!ै

अप�ण कर सव�瘄裿 मनजु को,

कर न द끏ु俰 को आ踄 समप�ण।

कुछ भी बन बस कायर मत बन!

 

किव िकस पर सब कुछ समिप�त करन ेके िलए कह रहा ह�?

द끏ु俰 पर

कायर पर

दबु�ल पर

मानव पर

Correct Answer :­मानव पर 

11)

(22)
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Question Stimulus :­

‘‘अ錄㠄ु’’ श輄 म냿礄 猄냿यु踄 उपसग� ह­ै

अित

अ

अत

अतय

Correct Answer :­अित 

12)

Question Stimulus :­

िन퟿଄ म냿礄 स ेिकस श輄 म냿礄 उदू� उपसग� ह?ै

अनजु

अخى쫿ागत

अपिव搄惿

बदनाम

Correct Answer :­बदनाम 

13)

Question Stimulus :­

‘‘आइन’’ 猄냿錄य लगाकर बनाया गया श輄 ह­ै

तिेलन

धोिबन

सनुा琄裿रन

औझाइन

Correct Answer :­औझाइन 

14)

Question Stimulus :­

‘‘ब琄裿रया’’ श輄 म냿礄 猄냿यु踄 猄냿錄य ह­ै
(23)
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इका

इत

इया

ई

Correct Answer :­इया 

15)

Question Stimulus :­

“प搄ु惿ी का िववाह करके अजय के माता­िपता आज गगंा नहा िलए”। रेखािंकत महुावरे का अथ� ह­ै

काय� स ेिनव脄 होना

पिव搄惿 हो जाना

तीथ� के िलए जाना

इनम냿礄 स ेकोई नहीं

Correct Answer :­काय� स ेिनव脄 होना 

16)

Question Stimulus :­

‘ईद का चादँ होना’ महुावरे का सही अथ� ह­ै

ईद के िदन िदखाई दनेा

ब엿켄त सुंदर होना

दश�न दलु�भ होना

उपय�ु踄 सभी

Correct Answer :­दश�न दलु�भ होना 

17)

Question Stimulus :­

‘माथा ठोक लनेा’ महुावरे का सही अथ� ह­ै

पीड़ा होन ेपर िसर पकड़कर बठैना

(24)
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दघु�टना की आशकंा होना

दीनतापवू�क काय� करना

बदिक焄�ती के कारण दःुखी

Correct Answer :­बदिक焄�ती के कारण दःुखी 

18)

Question Stimulus :­

िदय ेगय ेवा︃ाशं के िलए एक श輄 का 猄냿योग कीिजए­

‘चोरी­िछप ेऔर चुंगी श퟿ु丄ािद िदए िबना माल बचेन ेवाला’

मोशक

किमज

त伄र

चोर

Correct Answer :­त伄र 

19)

Question Stimulus :­

िदय ेगय ेवा︃ाशं के िलए एक श輄 का 猄냿योग कीिजए­

‘िकसी स脄ा के िव�ꘄ अपना स錄 मनवान ेके िलए िकया गया आदंोलना踄क आ䀀ह’

स錄ा䀀ह

आदंोलन

अप琄裿र䀀ह

हड़ताल

Correct Answer :­स錄ा䀀ह 

20)

Question Stimulus :­

िन퟿଄ प甄ं냿踄यो ंम냿礄 कौन­सा छंद ह ै?

‘‘रावन ुरथी िवरथ रघवुीरा, द甄े냿ख िवभीषन भयउ अधीरा।

(25)
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अिधक 猄냿ीित मन भा सदंहेा, बदंी चरन कह सिहत सनहेा ।।’’

चौपाई

बरवै

सोरठा

रोला

Correct Answer :­चौपाई 

21)

Question Stimulus :­

िन퟿଄ प甄ं냿踄यो ंकौन­सा छंद ह­ै

‘‘निह ंपराग निह ंमधरु मध,ु निह ंिवकास इिह काल।

अली कली सो ब위ँो,ं आग ेकौन हवाल।।’’

दोहा

सोरठा

बरवै

छ㘄य

Correct Answer :­दोहा 

22)

Question Stimulus :­

आवदेन प搄惿 िलखत ेसमय िदनाकं िलखन ेका िन퟿଄ म냿礄 स ेकौन­सा 猄냿कार सही ह­ै

चार िसतငर, दो हजार सोलह

4 िसतငर 2016

04/09/2016

चार िसतငर, 2016

Correct Answer :­04/09/2016 

23)

Question Stimulus :­
(26)
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िन퟿଄ म냿礄 स ेशꘄु वत�नी का चयन कीिजए­

उथान

ईषा�

इ偌�ा

अिन�िहत

Correct Answer :­अिन�िहत 

24)

Question Stimulus :­

िन퟿଄ म냿礄 स ेअशꘄु वत�नी का चयन कीिजए­

अिधिनयम

उငखु

आघणू�

ओसत

Correct Answer :­ओसत 

25)

Question Stimulus :­

आज भी भारत म냿礄 鐄裿वण कुमार पदैा होत ेह�। वा︃ म냿礄 रेखािंकत श輄 म냿礄 स䘄ंा ह।ै

भाववाचक

जाितवाचक

퟿褄甄냿踄वाचक

सकंेतवाचक

Correct Answer :­जाितवाचक 

26)

Question Stimulus :­

瘄裿त搄ं惿 भारत की रा끏俰�िलिप ह­ै

म猄ुा
(27)
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कैथी

रोमन

दवेनागरी

Correct Answer :­दवेनागरी 

27)

Question Stimulus :­

िन퟿଄ म냿礄 स े‘सौदामनी’ का पया�यवाची नही ंह­ै

िबजली

चचंला

偌�ण猄냿भा

िशलीमखु

Correct Answer :­िशलीमखु 

28)

Question Stimulus :­

‘गरल’ िन퟿଄ म냿礄 स ेिकसका पया�यवाची ह­ै

गिणका

िवष

मिणका

मनीषा

Correct Answer :­िवष 

29)

Question Stimulus :­

‘अहीर’ का त頄म श輄 ह­ै

अभीर

अधीर

(28)
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अणु

इनम냿礄 स ेकोई नहीं

Correct Answer :­अभीर 

30)

Question Stimulus :­

‘शलाका’ का त괄व श輄 ह­ै

सापँ

सलाई

सावँला

इनम냿礄 स ेकोई नहीं

Correct Answer :­सलाई 

31)

Question Stimulus :­

‘िन၏俰ाम’ का सिंध िव㤄दे ह­ै

िनस+्काम

िनत+्काम

िनष+काम

िनः+काम

Correct Answer :­िनः+काम 

32)

Question Stimulus :­

‘द�ुह’ िकस सिंध का उदाहरण ह?ै

瘄裿र सिंध

퟿褄जंन सिंध

िवसग� सिंध

(29)
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गणु सिंध

Correct Answer :­िवसग� सिंध 

33)

Question Stimulus :­

इनम냿礄 स ेकौन­सा शꘄु ह?ै

ना+अका=नाियका

न+ैईका=नाियका

न+ैइका=नाियका

इनम냿礄 स ेकोई नहीं

Correct Answer :­न+ैइका=नाियका 

34)

Question Stimulus :­

िन퟿଄ िल甄냿खत 6 वा︃ाशंो ंम냿礄 猄냿थम व अिंतम िनि鐄त ह�, शषे को उिचत 팄म म냿礄 ퟿褄व甄냿洄थत कीिजए­

(1) जो ퟿褄甄냿踄

(य) योग­साधना करता ह,ै उसे

(र) तन­मन स ेस㠄ी

(ल) म냿礄 कोई किठनाई नही ंहोती ह,ै अथा�त्

(व) सभी 猄냿कार की िस甄냿ꘄयो ंकी 猄냿ा甄냿㌄

(6) सभी िस甄냿ꘄया ंसहजतापवू�क िमल जाती ह�!

य र व ल

र य व ल

र व ल य

य व ल र

Correct Answer :­र य व ल 

35)

Question Stimulus :­

िन퟿଄ िल甄냿खत 6 वा︃ाशंो ंम냿礄 猄냿थम व अिंतम िनि鐄त ह�, शषे को उिचत 팄म म냿礄 ퟿褄व甄냿洄थत कीिजए­
(30)
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(1) सिंवधान म냿礄

(य) िविश끏俰 ब엿켄मत से

(र) सशंोधन उसी 甄냿洄थित म냿礄 हो सकता है

(ल) दोनो सदनो ंम냿礄

(व) जबिक सशंोधन िवघयेक

(6) पास कर िदया जाए!

र व य ल

व य ल र

र व ल य

य ल व र

Correct Answer :­र व ल य 

36)

Question Stimulus :­

िन퟿଄ चौपाई म냿礄 कौन सा अलंकार ह?ै

"िबन ुपद चलइ, सनु ेिबन ुकाना।

कर िबन ुकम�, करै िविध नाना।।"

िवरोधाभास

अनवय

�पक

िवभावना

Correct Answer :­िवभावना 

37)

Question Stimulus :­

‘‘मान엿켄 मिनमय मौिल­माल आकृित अलबलेी’’ प甄ं냿踄 म냿礄 कौन सा अलंकार ह?ै

�पक

됄षे

(31)
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उ褄偌े�ा

उपमा

Correct Answer :­उ褄偌े�ा 

38)

Question Stimulus :­

िन퟿଄ म냿礄 स냿礄 अशꘄु वा︃ छािँटए­

猄냿ायः ऐसा होता ह।ै

शरीर के कई अगं होत ेह�।

मझु ेप圄ुक दो।

हमारे स ेकोई काम नही ंहोता।

Correct Answer :­हमारे स ेकोई काम नही ंहोता। 

39)

Question Stimulus :­

िन퟿଄ म냿礄 स냿礄 अशꘄु वा︃ छािँटए­

राम, ल恎翰ण और सीता वन को गई।

राम, ल恎翰ण और सीता वन को गए।

राम वन गया।

राम और ल恎翰ण वन गए।

Correct Answer :­राम, ल恎翰ण और सीता वन को गई। 

40)

Question Stimulus :­

िन퟿଄ प甄ं냿踄यो ंका स偌ं�पेण कीिजए­

 

जब भी म� ससंार म냿礄 कोई बरुा आदमी ढूढ़ँन ेिनकलता �,ँ तो मझु ेअपन ेस ेबरुा आदमी दखेन ेम냿礄 नही ंआता। अᄄ सभी म냿礄 कोई­न­
कोई गणु नज़र आता ह,ै जबिक मझु ेअपन ेम냿礄 कोई­न­कोई दोष नज़र आता ह।ै यह सतं कबीर की वाणी ह।ै व ेलोगो ंको समझाना
चाहत ेह� िक दूसरो ंके दोषो ंपर नही, अपन ेदोषो ंपर 위ान दो। जबिक मानव ­ 瘄裿भाव इसके ठीक िवपरीत ह।ै लोग अपन ेआपको
दवेता मानत ेह� और दूसरो को रा偌�स मानत ेह�। दूसरो ंकी खोट दखेना आम आदमी की आदत ह।ै

जहा ँचाह वहा ँराह
(32)
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बरुा जो दखेन म� चला बरुा न िमिलया कोई

लडका­लडकी एक समान

इनम냿礄 स ेकोई नहीं

Correct Answer :­बरुा जो दखेन म� चला बरुा न िमिलया कोई 

41)

Question Stimulus :­

इनम냿礄 स ेकौन­सा िवक椄 बाकी तीनो ंिवक椄ो ंस ेपरूी तरह अलग ह ै?

शरे

बाघ

गाय

लोमड़ी

Correct Answer :­गाय 

42)

Question Stimulus :­

िन퟿଄ म냿礄 स े‘ल灎翰’ श輄 का अनकेाथ� श輄 नही ंह­ै

लाभ

िनशाना

उꈄे뀄

위ये

Correct Answer :­लाभ 

43)

Question Stimulus :­

‘猄냿ो頄ािहत’ के िलए िवलोम श輄 होगा­

अन猄냿ो頄ािहत

अ猄냿ो頄ािहत

(33)
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हतो頄ािहत

इनम냿礄 स ेकोई नहीं

Correct Answer :­हतो頄ािहत 

44)

Question Stimulus :­

‘बोधग쫿␄’ का िवलोम इनम냿礄 स ेनही ंह­ै

अबोधग쫿␄

गढ़ू

बो위

द�ुह

Correct Answer :­बो위 

45)

Question Stimulus :­

दो िवपरीताथ�क श輄ो ंके बीच िकस िच⌄ का 猄냿योग होता ह?ै

योजक िच⌄

िव焄�यािद िच⌄

अ椄िवराम िच⌄

अध�िवराम िच⌄

Correct Answer :­योजक िच⌄ 

46)

Question Stimulus :­

‘मकूमाटी’ महाका퟿褄 के रचियता कौन ह�­

जयशकंर 猄냿साद

आचाय� िव댄ासागर

मिैथलीशरण गु㌄

(34)
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िशवमगंलिसहं समुन

Correct Answer :­आचाय� िव댄ासागर 

47)

Question Stimulus :­

िन퟿଄ प甄ं냿踄 म냿礄 कौन­सा रस ह ै?

‘‘िकलकत का⌄ घटु�ुवन आवत।

मिनमय कनक नदं के आगंन िबင पक琄裿रव ेधावत।।’’

अद्भुत रस

रौ瀄惿 रस

वीर रस

वा頄渄 रस

Correct Answer :­वा頄渄 रस 

48)

Question Stimulus :­

‘‘वा︃ ंरसा踄कं का퟿褄’ं’ यह कथन िकस 䀀थं का ह?ै

ना怄शा朄

शती ना怄 दप�ण

सािह錄 दप�ण

鐄裿ृंगार 猄냿काश

Correct Answer :­सािह錄 दप�ण 

49)

Question Stimulus :­

CANCELLED

‘‘猄냿ीित 猄냿वास’’ रचना के रचनाकार ह�­

सनेापित

भषूण
(35)
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घनानदं

नाभादास

Correct Answer :­घनानदं 

50)

Question Stimulus :­

रीवा स ेसपंािदत ‘‘भारत 瘄裿ाता’’ समाचार प搄惿 का 猄냿काशन कब आरंभ िकया गया­

1853

1873

1887

1863

Correct Answer :­1887 

51)

Question Stimulus :­

‘‘राखी की लाज’’ नाटक के लखेक कौन ह?ै

वावन लाल वमा�

樄 याम नारायण पा猄ये

कामता猄냿साद ग�ु

आचाय� रामच瀄惿 श＃ु

Correct Answer :­वावन लाल वमा� 

52)

Question Stimulus :­

िन퟿଄ पहलेी के सही उ脄र का चयन कीिजए­

‘‘नदं बाबा के नौ सौ गाय, रात चरत िदन बड़े ेगाय।’’

आकाश

तारा

चदंा
(36)
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सरूज

Correct Answer :­तारा 

53)

Question Stimulus :­

िन퟿଄ पहलेी के सही उ脄र का चयन कीिजए­

‘‘कटोरे ऊपर कटोरा, बटेा बाप स ेभी गोरा।’’

ना琄裿रयल

क냿礄था

बले

आम

Correct Answer :­ना琄裿रयल 

54)

Question Stimulus :­

िज긄裿ा 똄ारा 樄 वास के अवरोध के आधार पर ퟿褄जंनो ंको िकतन ेभागो ंम냿礄 बाटंा गया ह?ै

दो

तीन

सात

चार

Correct Answer :­चार 

55)

Question Stimulus :­

‘आ + र् + य ्+ आ + व ्+ अ + र् + त ्+ अ’ का शꘄु वत�नी स偌ं�पेण होगा­

आय�वत�

आया�वत�

अरयावत�

आया�踄惿त
(37)
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Correct Answer :­आया�वत� 

56)

Question Stimulus :­

िन퟿଄ म냿礄 स ेकोई एक य☄ु समो㠄ा琄裿रत नही ंह,ै चयन कीिजए­

अपहार­उपहार

अिभराम­अिवराम

अ錄­अिंतम

अिभमान­अिभयान

Correct Answer :­अ錄­अिंतम 

57)

Question Stimulus :­

िन퟿଄ 猄냿樄 न के श輄­य☄ु के अथ�­भदे म냿礄 स ेकौन सा गलत ह?ै

अभय­उभय = िनभ�कता­दोनों

अभदे­अभ댄े = भदे का अभाव­जो तोड़ा न जा सके

अरथी­अथ� = िटकठी­चाहन ेवाला

आयत­आयात = दशे म냿礄 माल लाना­िवदशे म냿礄 माल भजेना

Correct Answer :­आयत­आयात = दशे म냿礄 माल लाना­िवदशे म냿礄 माल भजेना 

58)

Question Stimulus :­

िन퟿଄ म냿礄 स े‘‘िन၏俰ष�’’ श輄 के समानाथ� श輄 का चयन कीिजए­

प琄裿रणाम

समझौता

नतीजा

ल灎翰

Correct Answer :­नतीजा 

59)
(38)
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59)

Question Stimulus :­

िन퟿଄िल甄냿खत वा︃ म냿礄 स ेरेखािंकत श輄 के समानाथ� श輄 का चयन कीिजए­

 ‘‘राम न ेरावण का सहंार िकया।’’

ह錄ा

स錄ानाश

वध

िवनाश

Correct Answer :­वध 

60)

Question Stimulus :­

स㌄िसधं ुका समास िव䀀ह होगा­

सात िसधंओु ंका समहू

सात िसधंओु ंका ह ैजो समहू

सात ह ैिसधंु

सात िसधंओु ंवाला

Correct Answer :­सात िसधंओु ंका समहू 

61)

Question Stimulus :­

‘ह圄िल甄냿खत’ श輄 िकस समास का उदाहरण ह?ै

कम�धाराय समास

त蜄�ुष समास

ब엿켄甄裿ीिह समास

अ퟿褄यीभाव समास

Correct Answer :­त蜄�ुष समास 

62)

(39)
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Question Stimulus :­

‘कालीिमच�’ श輄 िकस समास का उदाहरण ह?ै

ब엿켄甄裿ीिह समास

कम�धाराय समास

त蜄�ुष समास

अ퟿褄यीभाव समास

Correct Answer :­कम�धाराय समास 

63)

Question Stimulus :­

‘षडानन’ श輄 िकस समास का उदाहरण ह?ै

अ퟿褄यीभाव समास

ब엿켄甄裿ीिह समास

त蜄�ुष समास

कम�धाराय समास

Correct Answer :­ब엿켄甄裿ीिह समास 

64)

Question Stimulus :­

‘‘वह तᄄ पर सोता ह’ै’ म냿礄 कौन­सा वा㴄 ह?ै

कम� वा㴄

भाव वा㴄

कत�ृ वा㴄

इनम냿礄 स ेकोई नहीं

Correct Answer :­कत�ृ वा㴄 

65)

Question Stimulus :­

िहदंी सािह錄 की 猄냿थम कहानी ह­ै
(40)
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आकाश똄ीप

猄냿मेसागर

इ䐄틿दुमित

रानी केतकी की कहानी

Correct Answer :­इ䐄틿दुमित 

66)

Question Stimulus :­

‘On deputation’ श輄 का अथ� ह­ै

िनयु踄 करना

猄냿यु踄 करना

अिभयु踄 पर

猄냿ितिनय甄ु냿踄 पर

Correct Answer :­猄냿ितिनय甄ु냿踄 पर 

67)

Question Stimulus :­

CANCELLED

‘Headlong’ श輄 का अथ� ह­ै

लबंा िसर

िबना सोच ेिवचारे हड़बड़ी म냿礄

लबं ेसमय बाद

िसर के बल

Correct Answer :­िबना सोच ेिवचारे हड़बड़ी म냿礄 

68)

Question Stimulus :­

‘त ूडाल­डाल म� पात­पात’ लोको甄냿踄 का ︃ा अथ� ह?ै

दोनो ंिव똄ान
(41)
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दोनो ंत霄䘄

एक स ेबढ़कर मखू�

एक स ेबढ़कर दूसरा चालाक

Correct Answer :­एक स ेबढ़कर दूसरा चालाक 

69)

Question Stimulus :­

िन퟿଄ िवक椄ो ंम냿礄 स ेवा︃ के िलए उपयु踄 लोको甄냿踄 का चयन कीिजए­

‘िजस ेगज� ह ैवही ंिनि鐄त ह ैऔर दूसरा उसके िलए िचिंतत ह’ै

िमया ँकी दौड़ म甄냿匄द तक

िमया ँकी दाड़ी वाहवाही म냿礄 गयी

मन के हारे हार ह ैमन के जीत ेजीत

इनम냿礄 स ेकोई नहीं

Correct Answer :­इनम냿礄 स ेकोई नही ं

70)

Question Stimulus :­

 ‘न नौ मन तले होगा, न राधा नाचगेी’ लोको甄냿踄 का ︃ा अथ� ह?ै

साधन के अभाव का बहाना

िबना कह ेही भलाई

िबना सोच ेसमझे

सनुवाई न होना

Correct Answer :­साधन के अभाव का बहाना 

Topic:­ General Knowledge 
1)

Question Stimulus :­

Kangra valley is situated in the state of / कागंड़ा घाटी इस रा倄 म냿礄 甄냿洄थत ह:ै

Rajasthan / राज洄थान

(42)
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Himachal Pradesh / िहमाचल 猄냿दशे

Arunachal Pradesh / अ�णाचल 猄냿दशे

Uttar Pradesh / उ脄र 猄냿दशे

Correct Answer :­Himachal Pradesh / िहमाचल 猄냿दशे 

2)

Question Stimulus :­

Match the following and select the correct answer from the codes given below: : नीच ेिदए गए
कूटो ंके आधार पर सही उ脄र का चयन कर냿礄 एव ंिमलाएँ:

   List­I                    List­II

1. Sikkim                   a. Agartala

2. Meghalaya               b. Imphal

3. Manipur                  c. Shillong

4. Tripura                   d. Gangtok

   सिूच­I                      सिूच­II

1. िस甄냿爄म                   a. अगरतला

2. मघेालय                   b. इ各फाल

3. मिणपरु                    c. िशलागं

4. ि搄惿परुा                     d. गगंटोक

1­d, 2­c, 3­a, 4­b

1­d, 2­c, 3­b, 4­a

1­c, 2­d, 3­b, 4­a

1­d, 2­b, 3­c, 4­a

Correct Answer :­1­d, 2­c, 3­b, 4­a 

3)

Question Stimulus :­

Which is the largest animal in the world? / दिुनया का सबस ेबड़ा जानवर कौन ह?ै

Blue Whale / नीली �ले
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Camel / ऊंट

Elephant / हाथी

Hippo / द琄裿रयाई घोड़ा

Correct Answer :­Blue Whale / नीली �ले 

4)

Question Stimulus :­

The dam that is located in Bhopal, which helps in controlling water from the Kaliasot river is called / बाधं, जो भोपाल म냿礄
甄냿洄थत और किलयासोत नदी का पानी िनयिं搄惿 त करन ेम냿礄 सहायक है

Bhadbhada Dam / भदभदा बाधं

Sanjay Sagar /  सजंय सागर

Rampunkhund Tank / रामपनुखडं तालाब

Pehsari dam / पहेसारी बाधं

Correct Answer :­Bhadbhada Dam / भदभदा बाधं 

5)

Question Stimulus :­

What is the largest internal organ in human body? / मानव शरीर म냿礄 सबस ेबड़ा आतं琄裿रक अगं कौन सा ह?ै

Large intestine /  बडी आतँ

Kidney /  गदुा�

Heart /  냿누दय

Liver /  यकृत

Correct Answer :­Liver /  यकृत 

6)

Question Stimulus :­

Acid produced by ants is called ____ . / चीिंटयो ं똄ारा उ蜄ािदत अ쫿┄ को कहा जाता ह_ै__।

Formic acid / फॉिम�क अ쫿┄

Folic acid / फोिलक अ쫿┄
(44)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Nitric acid / नाइिट�क अ쫿┄

Acetic acid / एिसिटक अ쫿┄

Correct Answer :­Formic acid / फॉिम�क अ쫿┄ 

7)

Question Stimulus :­

Where is Badrinarayan Temple located / ब瀄惿ीनाथ मिंदर कहा ँ甄냿洄थत है

Uttarakhand / उ脄राख猄

Sikkim / िस甄냿爄म

Bihar / िबहार

Haryana / ह琄裿रयाणा

Correct Answer :­Uttarakhand / उ脄राख猄 

8)

Question Stimulus :­

Arrange the following from west to east and select the correct answer from the codes given
below:

1. London

2. Lisbon
3. Frankfurt

4. Beirut

/

िन퟿଄िल甄냿खत को पि鐄म स ेपवू� की ओर ퟿褄व甄냿洄थत कर냿礄 एव ंनीच ेिदए गए सकंेतो ंके 똄ारा सही उ脄र का चयन कर냿礄:

1. लदंन

2. िल瀄न

3. 琄냿�कफट�

4. ब�ेत

1, 2, 3, 4

2, 1, 3, 4
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2, 1, 4, 3

1, 2, 4, 3

Correct Answer :­2, 1, 3, 4 

9)

Question Stimulus :­

Which of these rivers originates in India? / िन퟿଄िल甄냿खत म냿礄 स ेकौन सी नदी का उ鼄म 洄थान भारत ह?ै

Tigris / िटग琄裿रस

Brahmaputra / 甄裿踄प搄ु惿

Hwang Ho / 긄裿ागं हो

Mahanadi / महानदी

Correct Answer :­Mahanadi / महानदी 

10)

Question Stimulus :­

Who was the other person along with Malala Yousafzai was awarded the Nobel Peace Prize 2014? / मलाला यसुफ़ुज़ई के
साथ­साथ व ेअᄄ ퟿褄甄냿踄 कौन थ ेिज⌄냿礄 नोबले शािंत परु伄ार 2014 के साथ स쫿⌄ािनत िकया गया था?

Kailash Satyarthi /  कैलाश स錄ाथ�

Jean Tirole /  जीन िटरोले

Patrick Modiano /  पिैट�क मोिडआनो

Eric Betzig /  ए琄裿रक ब甄े냿㐄ज़ग

Correct Answer :­Kailash Satyarthi /  कैलाश स錄ाथ� 

11)

Question Stimulus :­

In which river would you see the Anaconda? / िन퟿଄ म냿礄 स ेिकस नदी म냿礄 एनाकोडंा पाय ेजात ेह� ?

Amazon River / अमजेन नदी

Yellow River / ये漄ो नदी

Nile River / नील नदी
(46)
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Indus River / िसधं ुनदी

Correct Answer :­Amazon River / अमजेन नदी 

12)

Question Stimulus :­

The Hirakud project is on the river / हीराकुंड प琄裿रयोजना इस नदी पर ह:ै

Mahanadi  / महानदी

Godavari  /  गोदावरी

Damodar  /  दामोदर

Sutlej  /  सतलज

Correct Answer :­Mahanadi  / महानदी 

13)

Question Stimulus :­

Which of the following cities is called Golden city? / िन퟿଄ म냿礄 स ेकौन सा शहर गो퟿圄न िसटी कहा जाता ह?ै

Jaipur / जयपरु

Amristar / अमतृसर

Kanpur / कानपरु

Jaisalmer / जसैलमरे

Correct Answer :­Jaisalmer / जसैलमरे 

14)

Question Stimulus :­

Which among the following is the largest Tea growing country? /

िन퟿଄ स ेकौनसा दशे सबस े倄ादा चाय पदैा करन ेवाला दशे ह?ै

Australia / ऑ各�ेिलया

Russia / �स

India / भारत

(47)
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China /  चीन

Correct Answer :­China /  चीन 

15)

Question Stimulus :­

Which of the following pairing is correct? / िन퟿଄िल甄냿खत जोड़ो ंम냿礄 स ेकौन सही ह?ै

Reindeer ­ Indian and Arabia / बारहिसगंा ­ भारत और अरब

Kangaroo ­ Siberia / कंगा� ­ साइब琄े裿रया

Llama ­ South America / लामा ­ दि偌�ण अम琄े裿रका

Yak ­ New Zealand / याक ­ ᄄजूील�ड

Correct Answer :­Llama ­ South America / लामा ­ दि偌�ण अम琄े裿रका 

16)

Question Stimulus :­

Which sporting event would you associate with a distance of 42.19 kilometres? / आप 42.19 िकलोमीटर दूरी के साथ
िकस खले 猄냿ितयोिगता को सबंꘄ कर냿礄ग?े

Marathon /  मरैाथन

Tour de France / टूर डी 琄냿ासं

Formula One racing / फाम�ूला वन रेिसगं

Relay race / 琄裿रल ेदौड़

Correct Answer :­Marathon /  मरैाथन 

17)

Question Stimulus :­

Joshna Chinappa is related to the game of _______. /  जो쫿긄ा िच⬀पा ­­­­­­ खले स ेसबंिंधत ह।ै

Hockey  /  हॉकी

Squash  /  億श

Tennis  /  टिेनस

Badminton  /  बडेिमटंन
(48)
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Correct Answer :­Squash  /  億श 

18)

Question Stimulus :­

Against which team does Australia play the Ashes? / टीम के 甄냿खलाफ ऑ各�ेिलया न ेएशजे खलेा ?

South Africa / साउथ अ琄냿ीका

England / इ⨄ं�ड

West Indies/ व各े इिंडज

New Zealand/ ᄄजूील�ड

Correct Answer :­England / इ⨄ं�ड 

19)

Question Stimulus :­

Who was the first sportsperson to be awarded the Hridaynath Mangeshkar Award? / 냿누दयनाथ मगंशेकर प�ु伄ार पाने
वाल ेपहल े甄냿खलाड़ी कौन था?

Vishwanathan Anand  / िव뜄नाथन आनदं

K Srikanth  /  के  鐄裿ीकातं

Sania Mirza / सािनया  िमज़ा�

VirendraSehwag / वीर냿礄瀄惿 सहवाग

Correct Answer :­Vishwanathan Anand  / िव뜄नाथन आनदं 

20)

Question Stimulus :­

Where did Sachin Tendulkar score his 100th century? / सिचन त냿礄दलुकर न ेअपना 100वा ंशतक कहा ँजमाया था?

Australia / ऑ各�ेिलया

Bangladesh / बा⨄ंादशे

West Indies / व各े इडंीज़

England / इ⨄ं�ड

(49)
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Correct Answer :­Bangladesh / बा⨄ंादशे 

21)

Question Stimulus :­

Finance Commission is appointed after every__________ years. / 猄냿錄के __________  वष� के
प鐄ात िव脄 आयोग की िनय甄ु냿踄 होती ह।ै

6

7

2

5

Correct Answer :­5 

22)

Question Stimulus :­

“Connecting People” is the tagline of which company / “कन甄े냿瘄गं पीपल”  िकसा कंपनी
का 猄냿चार वा︃ ह?ै

Motorola / मोटोरोला

HTC / एचटीसी

Nokia / नोिकया

Samsung / समैसगं

Correct Answer :­Nokia / नोिकया 

23)

Question Stimulus :­

The first women to be elected from a former Princely state of India as a member of legislative assembly and born in
Ujjain./ भारत की पवू� 琄裿रयासत स ेिवधान सभा म냿礄 सद猄� चनुी गयी ंपहली मिहला। उ䄄नै म냿礄 पदैा 엿켄ई ंथी।

Kamala Benival /  कमला बनेीवाल

Yashoda Devi /  यशोदा दवेी

Vasundara Devi / वसुंधरा दवेी

Maya Singh/ माया िसहं

(50)
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Correct Answer :­Yashoda Devi /  यशोदा दवेी 

24)

Question Stimulus :­

Which of the wheat granary of India? /  भारत म냿礄, ग�े ँके भडंार के �प म냿礄 िकस ेजाना जाता है
?

Punjab / पजंाब

Karnataka / कना�टक

Bihar /  िबहार

Uttar Pradesh / उ脄र 猄냿दशे

Correct Answer :­Punjab / पजंाब 

25)

Question Stimulus :­

Select the nationality of Christopher Columbus from the following / िन퟿଄िल甄냿खत म냿礄 स ेि팄各ोफर कोलबंस की
रा끏俰�ीयता का चयन कर냿礄?

American / अम琄े裿रकी

Italian / इतालवी

Portuguese / पतु�गाली

None of these / इनम냿礄 स ेकोई नहीं

Correct Answer :­Italian / इतालवी 

26)

Question Stimulus :­

After which Indian was a stretch of Michigan Avenue in Chicago renamed? /
िशकागो म냿礄 िमिशगन एवेᄄ ूमाग� िकस भारतीय के नाम पर ह?ै

Swami Vivekananda/ 瘄裿ामी िववकेानदं

Amartya Sen / अम錄� सने

Shah Rukh Khan / शाह�ख खान

Jhumpa Lahiri / झुंपा लािहड़ी
(51)
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Correct Answer :­Swami Vivekananda/ 瘄裿ामी िववकेानदं 

27)

Question Stimulus :­

Who was the first woman DGP of a State in India? / भारत म냿礄 एक रा倄 की पहली मिहला पिुलस महािनदशेक कौन थी ं?

Kiran Bedi / िकरन बदेी

Prema Mukarji / 猄냿मेा मखुज�

Pratibha Rai / 猄냿ितभा राय

Kanchan Chaudhary Bhattacharya / कंचन चौधरी भ崄ाचाय�

Correct Answer :­Kanchan Chaudhary Bhattacharya / कंचन चौधरी भ崄ाचाय� 

28)

Question Stimulus :­

The name of Pierre Cardin is associated with which of the following fields? / िपयरे कािड�न का नाम िन퟿଄ म냿礄 स ेिकस
偌�搄े惿 के साथ सबंिंधत ह?ै

Fashion Designing  /  फैशन िडज़ाइिनगं

Stationery /  लखेन ­ साम䀀ी

Automobiles  / गािडयां

Architecture / वा圄कुला

Correct Answer :­Fashion Designing  /  फैशन िडज़ाइिनगं 

29)

Question Stimulus :­

“The Boy Who Lived” is synonymous with which fictional character?  / ‘‘वह लड़का
जो रहता था’’ िकस का椄िनक च琄裿र搄惿 का पया�य ह?ै

Harry Potter /  हरैी पॉटर

Rust Cohle / र各 कोहले

Joffrey / जॉ琄냿ी

Star Lord / 各ार लाड�

Correct Answer :­Harry Potter /  हरैी पॉटर (52)
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Correct Answer :­Harry Potter /  हरैी पॉटर 

30)

Question Stimulus :­

Which state is called Gateway of South India? / िकस रा倄 को दि偌�ण भारत का गटेव ेकहा जाता ह?ै

Karnataka / कना�टक

Andhra Pradesh / आ焄ं냿猄냿दशे

Tamil Nadu / तिमलनाडु

Kerala / केरल

Correct Answer :­Tamil Nadu / तिमलनाड ु

31)

Question Stimulus :­

The Golkonda fort is situated in which city? / गोलकुंडा िकला िकस शहर म냿礄 甄냿洄थत ह?ै

Kochi / को㠄ी

Bangalore / ब�गलोर

Secunderabad / िसकंदराबाद

Hyderabad / हदैराबाद

Correct Answer :­Hyderabad / हदैराबाद 

32)

Question Stimulus :­

CANCELLED

Who among the following is authorised to declare elections of Lok Sabha / िन퟿଄ म냿礄 स ेकौन लोक सभा के चनुावो ंकी
घोषणा करन ेके िलए अिधकृत ह?ै

Vice President / उप‐ रा끏俰�पित

Supreme Court Judge / उ㠄तम ᄄायालय के ᄄायाधीश

Home Minister / गहृम搄ं惿ी

Prime Minister / 猄냿धानम搄ं惿ी
(53)
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Correct Answer :­Prime Minister / 猄냿धानम搄ं惿ी 

33)

Question Stimulus :­

Who among the following was NOT President of India? / िन퟿଄िल甄냿खत म냿礄 स ेकौन भारत के रा끏俰�पित नही ंथ?े

Sarvepalli Radhakrishnan / सव�प漄ी राधाकृ℄裿न

Fakhruddin Ali Ahmed / फख�ꈄीन अली अहमद

Giani Zail Singh / 䘄ानी जलै िसहं

V. P. Singh / वी. पी. िसहं

Correct Answer :­V. P. Singh / वी. पी. िसहं 

34)

Question Stimulus :­

The Constitution of India does not mention the post of  /  िन퟿଄ म냿礄 स ेिकस पद का
उ漄खे भारत के सिंवधान म냿礄 नही ंह?ै

The Deputy Prime Minister / उप猄냿धानम搄ं惿ी

The Deputy Chairman of the Rajya Sabha / रा倄 सभा के उपा위偌�

The Deputy Speaker of the State Legislative Assemblies / रा倄 िवधानसभाओ ंके उप सभापित

The Deputy Speaker of the Lok Sabha / लोक सभा के उप सभापित

Correct Answer :­The Deputy Prime Minister / उप猄냿धानम搄ं惿ी 

35)

Question Stimulus :­

CANCELLED

Who has been sworn‐in as the new Chief Jus堀倅ce of the Chhaꨀ댅sgarh High Court? / छ脄ीसगढ़ उ㠄 ᄄायालय के नए मᐄु
ᄄायाधीश के �प म냿礄 िकस ेशपथ िदलाई गई ह?ै

Justice Yatindra Singh  /  ᄄायमिूत� यती िसहं

Justice Naveen Sinha  /  ᄄायमिूत� नवीन िस⌄ा

Justice Rajeev Gupta /  ज甄냿各स राजीव गु㌄ा

(54)
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Justice Jagdish Bhalla /  ज甄냿各स जगदीश भ漄ा

Correct Answer :­Justice Naveen Sinha  /  ᄄायमिूत� नवीन िस⌄ा 

36)

Question Stimulus :­

The longest day (shortest night) in the southern hemisphere is: / दि偌�णी गोलाꘄ� म냿礄 सबस ेलबंा िदन (सबस ेछोटी रात)
ह:ै

July 21 / 21 जलुाई

December 22 / 22 िदसငर

November 22 / 22 नवငर

June 21 / 21 जनू

Correct Answer :­December 22 / 22 िदसငर 

37)

Question Stimulus :­

“Swaraj is my birth right, and I shall have it!” who said this statement?/ "攀攀राज
मरेा ज 爀िस挀椀 अिधकार ह ैऔर म� इस ेलकेर र�गँा" यह कथन िकसके थ?े

Chandra Shekhar Azad /  च शखेर आजाद

Raja Ram Mohan Roy /  राजा राम मोहन रॉय

Lokmanya Bal Gangadhar Tilak /  लोकमाᄄ बाल गगंाधर ितलक

Sardar Vallabbhai Patel /  सरदार व漄भ भाई पटले

Correct Answer :­Lokmanya Bal Gangadhar Tilak /  लोकमाᄄ बाल गगंाधर ितलक 

38)

Question Stimulus :­

The country that shares longest border with India is _________. / भारत के साथ सबस ेलबंी सीमा साझा करन ेवाला दशे
ह ै__________ ह।ै

China / चीन

Bangladesh / बा⨄ंादशे

(55)
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Nepal / नपेाल

Pakistan / पािक圄ान

Correct Answer :­Bangladesh / बा⨄ंादशे 

39)

Question Stimulus :­

Headquarters of South­Central railways is located in _____. / िन퟿଄ म냿礄 स ेकौन स ेशहर म냿礄 दि偌�ण म위 रेलव ेका मᐄुालय
甄냿洄थत है

Bangalore/ ब�गलोर

Chennai/ च⬀ेई

Kochi/ को甄냿㠄

Secunderabad/ िसकंदराबाद

Correct Answer :­Secunderabad/ िसकंदराबाद 

40)

Question Stimulus :­

In which among the following States did the Alwar saints originate? / िन퟿଄िल甄냿खत रा倄ो ंम냿礄 स ेिकसस ेअ爄र सतंो ंका
आरंभ 엿켄आ?

Rajasthan / राज洄थान

Maharashtra / महारा끏俰�

Karnataka / कना�टक

Tamil Nadu / तिमलनाडु

Correct Answer :­Tamil Nadu / तिमलनाड ु

41)

Question Stimulus :­

In whose name did India launch its first Satellite? / भारत न ेअपना पहला उप䀀ह िकसके नाम स े猄냿偌�िेपत िकया?

Bhaskara I/ भा伄र I

Bhaskara II/ भा伄र II

(56)
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Aryabhatta/ आय� भ崄

Albert Einstein/ अ欄ट� आइ各ंीन

Correct Answer :­Aryabhatta/ आय� भ崄 

42)

Question Stimulus :­

_________ is the most popular festival in Kerala. / _________ केरल का सबस ेबड़ा 錄ोहार ह।ै

Diwali /  िदवाली

Onam / ओणम

Boat Festival / नौका उ頄व

Makaravilakku / मकरािवल爄

Correct Answer :­Onam / ओणम 

43)

Question Stimulus :­

On whose life is the documentary Yes, Madam Sir based? /  यस, मडैम सर िकसके जीवन के व脄ृिच搄惿
पर आधा琄裿रत ह?ै

Indira Gandhi /  इिंदरा गाधँी

Kiran Bedi /  िकरण बदेी

Sushma Swaraj /  सषुमा 瘄裿राज

Priyanka Chopra /  ि猄냿यकंा चोपड़ा

Correct Answer :­Kiran Bedi /  िकरण बदेी 

44)

Question Stimulus :­

Who is the Chairman of the Airports Authority of India? / हाल म냿礄 ही एयर पोट� अथॉ琄裿रटी ऑफ इिंडया के
अ위偌� पद पर िकस ेिनयु踄  िकया गया ह?ै

Guruprasad Mohapatra  /  ग�ु猄냿साद मोहपा搄惿ा

Capt. Gopinath  /  कै┄ने गोपीनाथ

(57)
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Jayant Sinha  /  जयतं िसहंा

Ashok Raju  /  अशोक राजू

Correct Answer :­Guruprasad Mohapatra  /  ग�ु猄냿साद मोहपा搄惿ा 

45)

Question Stimulus :­

Which was the first foreign army to participate in India’s Republic Day parade? / भारत के गणत搄ं惿 िदवस की परेड
म냿礄 शािमल होन ेवाली पहली िवदशेी सनेा कौन थी?

British  /  ि甄裿िटश

German  /  जम�न

French / 琄냿냿礄च

Russian  /  �सी

Correct Answer :­French / 琄냿냿礄च 

46)

Question Stimulus :­

The headquarters of World Health Organisation is in _______ / िव뜄 瘄裿ा樄 सगंठन का मᐄुालय ह ै­­­­­­­­­­­­­­­­
­­

Geneva, Switzerland / िजनवेा, 甄냿瘄裿टज्रल�ड

New York, United States / ᄄ ूयॉक�, यनूाइटडे 各टेस्

Paris, France / प琄े裿रस, 琄냿ासं

Washington, D.C., United States / वािशगंटन डी.सी., यनूाइटडे 各टेस्

Correct Answer :­Geneva, Switzerland / िजनवेा, 甄냿瘄裿टज्रल�ड 

47)

Question Stimulus :­

When is ‘World Cancer Day’ observed? / िव뜄  क�सर िदवस (World Cancer Day) कब
मनाया जाता ह?ै

10th May  /  10 मई
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4th February  /  4 फरवरी

7th January  /  7 जनवरी

23rd April  /  23 अ猄냿लै

Correct Answer :­4th February  /  4 फरवरी 

48)

Question Stimulus :­

River that makes a boundary between Madhya Pradesh and Uttar Pradesh is /
 नदी जो म위 猄냿दशे और उ脄र 猄냿दशे के बीच सीमा का िनधा�रण करती ह।ै

Jamni  /  जमनी

Chambal / चबंल

Betwa / बतेवा

Gambhir / गभंीर

Correct Answer :­Jamni  /  जमनी 

49)

Question Stimulus :­

Which are among the more important of the minerals of Madhya Pradesh? / िन퟿଄ म냿礄 स ेम위 猄냿दशे का अिधक
मह霄पणू� खिनज कौन सा ह?ै

Zinc and manganese / ज圄ा और म�गनीज

Mica and coal / अ瘄裿क और कोयला

Silver and copper / चादंी और ताबंा

Coal and iron / कोयला और  लोहा

Correct Answer :­Coal and iron / कोयला और  लोहा 

50)

Question Stimulus :­

Which of the following is the smallest district of Madhya Pradesh in terms of geographical area? / म위 猄냿दशे का
सबस ेकम भौगोिलक 偌�搄े惿 का िजला कौन सा ह?ै
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Datia / दितया

Jabalpur / जबलपरु

Morena / मरुैना

Indore /  इदंौर

Correct Answer :­Datia / दितया 

51)

Question Stimulus :­

Which of the following numbers will not have 6 in their unit’s place? / िन퟿଄ म냿礄 स ेकौन सी सᐄंाओ ंम냿礄 उनके इकाई
洄थान पर 6 नही ंहोगा?

2442

2492

262

13442

Correct Answer :­2492 

52)

Question Stimulus :­

Find the cube root of 0.027 / 0.027 का घनमलू िनकािलए

0.03

0.3

0.003

3.0

Correct Answer :­0.3 

53)

Question Stimulus :­

CANCELLED

(60)
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Area of a rectangular window is 420 sq ft.  One half of the window has 1cm2 grill, while
the other half has 3 cm2grill.  Then the ratio of the number of grills in the window is
______________________ / एक आयताकार 甄냿खड़की का 偌�搄े惿फल 420 वग� फीट ह.ै 甄냿खड़की के एक आध ेिह眄裿े
म냿礄 3 समेी वग� की जाली ह ैजबिक दूसरे आध ेिह眄裿 ेम냿礄 3 समेी वग� की जाली ह.ै तो 甄냿खड़की म냿礄 जािलयो ंकी सᐄंा का अनपुात
ह­ै

3 : 1

1 : 3

2 : 3

3 : 2

Correct Answer :­3 : 1 

54)

Question Stimulus :­

CANCELLED

A knitting wool sample card has 4red,1 black,2 pink and 5 blue samples. If one  sample is
picked at random what is the probability that it is pink? / एक बनुन ेवाली ऊनी के स컿ैคल काड� म냿礄
4लाल, 1 काला, और 5 नील ेस컿ैคलह�। यिद एक स컿ैคल को उठाया जाय ेतो 猄냿ाियकता ︃ा ह ैिक वह गलुाबी ह?ै

Correct Answer :­  

55)

Question Stimulus :­

When a dice is thrown, find the probability of getting a number not greater

 than 4. / जब एक पास ेको फ냿礄का जाता ह,ै तो उस सᐄंा के िमलन ेकी 猄냿ाियकता िनकािलय ेजो 4 स ेबड़ी न हो।

(61)
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Correct Answer :­  

56)

Question Stimulus :­

The most appropriate equaltion to solve for ‘x’ is _________  / ‘x’ को हल करन ेके िलय ेसबसे
उपयु踄 समीकरण ह_ै__________

3x +2x + (x + 290 ) + (3x + 90)

7x + 380 = 1800

7x = 3220

7x = 3980

Correct Answer :­7x = 3220 

57)

Question Stimulus :­

The graph shows forecast of the temperature and the actual temperature of a city on ten
days.   The maximum deviation of actual temperature from the forecast is _____________
/ 䀀ाफ तापमान का पवू�नमुान िदखाता ह ैऔर शहर का दस िदनो ंका वा圄िवक तापमान िदखाता ह।ै पवू�नमुान स ेवा圄िवक
तापमान का अिधकतम िवचलन ह­ै
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3°c

2°c

1°c

4°c

Correct Answer :­2°c 

58)

Question Stimulus :­

The double bar graph shows the number of bags sold by two stores A and B during four
months.   In the month of __________ the sales was equal in both stores / दडं 䀀ाफ दो दकुानों
A और B 똄ारा 4 महीनो ंके दौरान बचे ेगय ेबगैो ंकी सᐄंा िदखाता ह।ै __________के महीन ेम냿礄 दोनो ंदकुानो ंकी िब팄ी
बराबर थी।

May / मई

July / जलुाई

August / अग圄

June / जनू

Correct Answer :­August / अग圄 

59)
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Question Stimulus :­

How many square pieces can be cut from a metal sheet of length 4m and breadth 2.5m if the side of the square
piece is 25 cm. / एक 4 मी लबंाई और 2.5मी चौड़ाई वाली धात ुकी शीट स ेिकतन ेवग़� के टकुड़ ेकाट ेजा सकत ेह�
यिद वग� के टकुड़ ेकी भजुा 25 समेी ह।ै

480

160

400

120

Correct Answer :­160 

60)

Question Stimulus :­

To solve situations that are inversely proportional, we use the relation ___________ / ퟿褄笄ु्मानपुाती प琄裿र甄냿洄थितयो ंको हल
करन ेके िलय,े हम इस सबंधं का 猄냿योग करत ेह�

a:b :: c:d

a:b :: d:c

a:b :: b:a

a:c :: b:d

Correct Answer :­a:b :: d:c 

61)

Question Stimulus :­

Radioactivity was discovered by / रेिडयोसि팄यता की खोज िकसन ेकी?

Madam Curie / मडैम ︃रूी

Pierre Curie / िपयरे ︃रूी

Henri Becquerel / हनैरी ब︃ैरूल

Rutherford / रदरफोड�

Correct Answer :­Henri Becquerel / हनैरी ब︃ैरूल 

62)
(64)
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Question Stimulus :­

Among the following examples, which one is not considered as Matter. / िन퟿଄ उदाहरणो ंम냿礄 स,े िकस े瀄惿퟿褄 नही ंमाना
जाता।

Rubber / रबर

Nitrogen / नाइट�ोजन

Heat / ऊ㌄ा

L.P.G. / एल.पी.जी

Correct Answer :­Heat / ऊ㌄ा 

63)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one given
below? / िन퟿଄ चार पतो ंम냿礄 स ेकौन सा नीच ेिदय ेगय ेपत ेके एकदम समान नही ंह?ै

 

Woods, Greg/Heflinger, Joan

613 Lafayette Avenue

Crawfordsville, Indiana 47933

(317) 362­2781

 

(i)    Woods, Greg/Heflinger, Joan

613 Lafayette Avenue

Crawfordsville, Indiana 47933

(317) 362­2781

 

(ii)    Woods, Greg/Hefinger, Joan

613 Lafayette Avenue

Crawfordsville, Indiana 47933

(317) 362­2781

 

(iii)   Woods, Greg/Heflinger, Joan
(65)
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613 Lafayette Avenue

Crawfordsville, Indiana 47933

(317) 362­2781

 

(iv)   Woods, Greg/Heflinger, Joan

613 Lafayette Avenue

Crawfordsville, Indiana 47933

       (317) 362­2781

i

ii

iii

iv

Correct Answer :­ii 

64)

Question Stimulus :­

The far point of a myopic person is 1.00 m in front of the eye. The focal length of the lens
required to correct the problem is / एक अदूरदश� ퟿褄甄냿踄 का  दूर िबदं ु1.00 मीटर आखं के सामन ेह।ै सम猄�ा
को दूर करन ेके िलए िकतन ेफोकल लबंाई के ल냿礄स की`आव뀄कता होगी

­ 1.25  m / ­ 1.25 मी

‐ 0.80 m / ‐ 0.80 मी

‐ 1.00 m / ‐ 1.00 मी

+1.00 m / +1.00मी

Correct Answer :­‐ 1.00 m / ‐ 1.00 मी 

65)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one given
below? / िन퟿଄ चार पतो ंम냿礄 स ेकौन सा एक नीच ेिदय ेगय ेपत ेके एकदम समान नही ंह?ै

 

(66)
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Monoco Canoe Club

c/o Kennedy

861 Colts Neck

Freehold, New Jersey 07728

 

(i)            Monoco Canoe Club

                c/o Kennedy

                861 Colts Neck

                Freehold, New Jersey 07728

           

(ii)           Monoco Canoe Club

                c/o Kennedy

                861 Colts Neck

                Freehold, New Jersey 07728

 

(iii)          Monoco Canoe Club

                c/o Kennedy

                861 Colts Neck

                Freehold, New Jersey 07728

 

(iv)          Monoco Canoe Club

                c/o Kennedy

                861 Clots Neck

            Freehold, New Jersey 07728

i

ii

iii

iv
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Correct Answer :­iv 

66)

Question Stimulus :­

Which of the following is correct with regard to friction?  / िन퟿଄ म냿礄 स ेघष�ण के सदंभ� म냿礄 कौन सा सही
ह?ै

Rolling friction   >   Sliding friction   >   Static friction / बे漄न घष�ण > सप�
घष�ण > 洄थिैतक घष�ण

Rolling friction   >   Static friction     >   Sliding friction / बे漄न घष�ण >
洄थिैतक घष�ण > सप� घष�ण

Sliding friction   >   Static friction     >   Rolling friction / सप� घष�ण >  
洄थिैतक घष�ण > बे漄न घष�ण

Static friction     >   Sliding friction   >   Rolling friction / 洄थिैतक घष�ण >
सप� घष�ण > बे漄न घष�ण

Correct Answer :­Static friction     >   Sliding friction   >   Rolling friction / 洄थिैतक
घष�ण > सप� घष�ण > बे漄न घष�ण 

67)

Question Stimulus :­

Which of the following is the mirror image of ADRIFT? / िन퟿଄ म냿礄 स ेकौन सा ADRIFT का दप�ण 猄냿ितिबင ह?ै

Correct Answer :­  

68)

Question Stimulus :­

Find the selling price if its marked price is Rs.200 and rate of discount is 8%? / यिद अिंकत मू渄 �पय े200 ह ैएव ंछूट
की दर 8 % ह ैतो िव팄य मू渄 䘄ात कीिजए।

(68)
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164

184

134

124

Correct Answer :­184 

69)

Question Stimulus :­

Which method is commonly used by farmers to separate lighter husk particles from heavier seeds of
grain? / भारी अनाज के दानो ंस ेभसू ेके ह퟿丄 कणो ंको पथृक करन ेके िलए आमतौर पर िकसानो ं똄ारा कौन सी िविध 猄냿यृ踄
की जाती ह?ै

Winnowing /  पटकना

Threshing / गाहना

Decanting  / िनथारना

Sieving / छानना

Correct Answer :­Winnowing /  पटकना 

70)

Question Stimulus :­

Find the next term in the series 2,7,14,23, ________  /鐄裿खंला म냿礄 अगला पद 䘄ात कीिजए 2,7,14,23, ________

28

34

31

38

Correct Answer :­34 

71)

Question Stimulus :­

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word

(69)
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will be: / िन퟿଄ 猄냿쫿긄 म냿礄, पहल ेश輄 का दूसरे श輄 के साथ िकसी 猄냿कार स ेकोई सबंधं ह।ै यिद तीसरे श輄 का चौथ ेश輄 के
साथ उसी 猄냿कार का सबंधं होना चािहए, तो चौथा श輄 होगा:

Nokia : Handset :: Reebok : ? / नोिकआ : ह냿礄डसटे :: रीबोक : ?

Shoes / जतूे

Books / िकताब냿礄

Reader / पाठक

Watches / घिड़याँ

Correct Answer :­Shoes / जतू े

72)

Question Stimulus :­

Find out the wrong term / गलत पद 䘄ात कीिजए

2,4,7,12,16,22,29

4

16

12

29

Correct Answer :­12 

73)

Question Stimulus :­

In how many ways can we select 2 numbers out of 100 numbers? / 100 सᐄंाओ ंम냿礄 स ेिकतन े猄냿कार म냿礄 हम 2 सᐄंाओं
का चयन कर सकत ेह�?

5050

5000

4950

4900

Correct Answer :­4950 
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74)

Question Stimulus :­

Petrol and Diesel can be obtained from  / पटे�ोल और डीज़ल __________ स े猄냿ा㌄ िकए जा सकत ेह�

Crude Oil / क㠄ा तले

Coal tar / तारकोल

Coal gas / कोयला गसै

Coal / कोयला

Correct Answer :­Crude Oil / क㠄ा तले 

75)

Question Stimulus :­

Question is based on an encryption system in which: / 猄냿쫿긄 एक ए甄냿䐄틿팄पशन 猄냿णाली पर आधा琄裿रत है
िजसम냿礄:

(1) ‘Buy Good Oranges’ is coded as ‘BDG’ / ‘Buy Good Oranges’ को ‘BDG’ स ेकोिडत िकया जाता है

(2) 'Distribute Good Oranges’ is coded as ‘BCD’ / 'Distribute Good Oranges’ को ‘BCD’ से
कोिडत िकया जाता है

(3) ‘Oranges Are Red’ is coded as ‘BEF’; then / ‘Oranges Are Red’ को ‘BEF’ स ेकोिडत िकया जाता
है

What is the code for ‘Distribute’? / ‘Distribute’ के िलए ︃ा कोड ह?ै

E

F

B

C

Correct Answer :­C 

76)

Question Stimulus :­

Prahlad travels 7 km towards the east, then turns right and travels 7 km, then travels 15 km towards the left, then
goes 12 km towards the left again and finally goes 5 km towards the north. How far is he from his original place in
the horizontal direction? / 猄냿हलाद परूब की ओर 7िकमी या搄惿ा करता ह,ै िफर दाय냿礄 मड़ुता ह ैऔर िफर 7 िकमी या搄惿ा

(71)
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करता ह,ै िफर बायी ंओर 15िकमी या搄惿ा करता ह,ै िफर दोबारा बायी ंओर 12 िकमी जाता ह ैऔर अतं म냿礄 उ脄र की ओर
5िकमी जाता ह।ै वह 偌�िैतज िदशा म냿礄 अपन ेमलू 洄थान स ेिकतनी दूर ह?ै

24 km

8 km

22 km

17 km

Correct Answer :­22 km 

77)

Question Stimulus :­

Uniforms of firemen are made of fire–proof Plas堀倅c coated with / फायरमने की यनूीफॉम� आग­रोधी ______ का 䴄 ला甄냿各क
कोट करके बनाई जाती ह�

Teflon / टे甄ॉन

P.V.C / पी.वी.सी.

Melamine / मलेामाइन

Bake lite /  बकैेलाइट

Correct Answer :­Melamine / मलेामाइन 

78)

Question Stimulus :­

Mehak ranks seventh from the top and 28th from the bottom in a class. How many students
are there in the class? / महक क偌�ा म냿礄 ऊपर स ेसातँव े洄थान पर ह ैऔर नीच ेस े28व냿礄 洄थान पर ह।ै क偌�ा न냿礄 िकतने
छा搄惿 ह�?

34

35

36

37

Correct Answer :­34 

79)
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Question Stimulus :­

The cell wall in fungi is mainly made of_________ / कवक म냿礄 कोिशका िभि脄 मᐄुत: _______ स ेबनी होती है

Cellulose / सलेलुोस

Chitin / काइिटन

Mucin / 쫿␄िूसन

Glycogen / ⨄ाइकोजन

Correct Answer :­Chitin / काइिटन 

80)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below:

/ वह िवक椄 चिुनय ेजो तक� की ᴄ雿ि끏俰 स ेनीच ेिदय ेगय ेकथन के समान ह:ै

No one who arrives after 8 p.m. will be admitted. All my family arrived together at 8:15
p.m. / कोई भी ퟿褄甄냿踄 जो 8 बज ेके बाद आयगेा दा甄냿खल नही ंिकया जायगेा। मरेा परूा प琄裿रवार साथ म냿礄 8:15 बज ेआया।

All of my family was admitted. / मरेे परूे प琄裿रवार को दा甄냿खल कर िलया गया।

Some of my family was admitted. / मरेे प琄裿रवार के कुछ सद猄� दा甄냿खल कर िलय ेगय।े

None of my family was admitted. / मरेे प琄裿रवार स ेकोई भी दा甄냿खल नही ंिकया गया।

None of the above / उपरो踄 कोई नहीं

Correct Answer :­None of my family was admitted. / मरेे प琄裿रवार स ेकोई भी दा甄냿खल नही ंिकया गया। 

81)

Question Stimulus :­

Select the option, which is the logical equivalent of the given statement:/ वह िवक椄 चिुनय ेजो
तक� की ᴄ雿ि끏俰 स ेनीच ेिदय ेगय ेकथन के समान ह:ै

If it is hot, then we buy an air­conditioner / यिद गम� ह,ै तो हम एयर कंडीशनर खरीदत ेह�

If it is not hot, then we don’t buy an air­conditioner / यिद गम� नही ंह,ै तो हम एयर कंडीशनर नही ंखरीदत ेह�

If we don’t buy an air­conditioner, then it is not hot / यिद हम एयर कंडीशनर नही ंखरीदत ेह�, तो गम� नही ंहै

If it is cold, then we buy an air­conditioner / यिद ठंड ह,ै तो हम एयर कंडीशनर खरीदत ेह�

If we buy an air­conditioner, then it is hot / यिद हम एयर कंडीशनर खरीदत ेह�, तो गम� है
(73)
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Correct Answer :­If we don’t buy an air­conditioner, then it is not hot / यिद हम एयर कंडीशनर नही ंखरीदते
ह�, तो गम� नही ंह ै

82)

Question Stimulus :­

Name the structure that is a part of the skeletal system but are not bones / उस सरंचना का नाम बताइय ेजो
कंकाल त搄ं惿 का िह眄裿ा ह ैपरंत ुहि椄या ँनही ंहै

Teeth / दातँ

Hairs / बाल

Nails / नाखनू

Hooves / खरु

Correct Answer :­Teeth / दातँ 

83)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह कथन चिुनय ेजो
िदय ेगय ेकथनो ंएव ंिन၏俰ष냿逄 के बारे म냿礄 सही ह�:

Statements: / कथन:  

All caps are hats.  / सभी टोपी हटै ह�।

No hat is a pen. / कोई भी हटै कलम ह�।

 

Conclusions: / िन၏俰ष�:

I. No cap is a pen. / I. कोई भी टोपी कलम नही ंह।ै

II. Some hats are caps / II. कुछ हटै टोिपया ँह�।

Only conclusion I follows / केवल िन၏俰ष� I िनकलता है

Only conclusion II follows / केवल िन၏俰ष� II िनकलता है

Neither I nor II follows / न तो I और न ही II िनकलता है

Both I and II follow / दोनो ंI और II िनकलत ेह�

Correct Answer :­Both I and II follow / दोनो ंI और II िनकलत ेह� 
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84)

Question Stimulus :­

In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय े팄म म냿礄 अगली आकृित कौन सी
होगी?

Correct Answer :­  

85)

Question Stimulus :­

Eight Thirteen of 65 how much more than Six Fifth of 20? / 65 का आठ तरेहवा,ँ 20 के छह पाचँव냿礄 स ेिकतना अिधक
ह?ै
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16

18

20

25

Correct Answer :­16 

86)

Question Stimulus :­

What happens to milk during the formation of curd? / दही के िनमा�ण के दौरान दूध को ︃ा होता ह?ै

Coagulation of milk protein and formation of sugar / दूध 猄냿ोटीन का जमाव और शक�रा का िनमा�ण।

PH increases and alcohol is produced / पीएच बढ़ जाता ह ैऔर ए퟿丄ोहॉल का उ蜄ादन होता ह।ै

PH decreases; sugar is converted to lactic acid / पीएच घट जाता ह ैऔर शक�राल甄ै냿瘄क अ쫿┄ म냿礄 प琄裿रवित�त हो
जाती ह।ै

Complete Oxidation of sugar  into carbon di oxide and water/ काब�न
डाइऑ過翰ाइड और जल म냿礄 शक�रा का पणू� ऑ過翰ीकरण ।

Correct Answer :­PH decreases; sugar is converted to lactic acid / पीएच घट जाता ह ैऔर शक�राल甄ै냿瘄क
अ쫿┄ म냿礄 प琄裿रवित�त हो जाती ह।ै 

87)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह कथन चिुनय ेजो
िदय ेगय ेकथनो ंएव ंिन၏俰ष냿逄 के बारे म냿礄 सही ह�:

Statements: / कथन:   

Some cows are animals. / कुछ गाय जानवर ह�।     

Some animals are monkeys. / कुछ जानवर बदंर ह�।

Conclusions:  / िन၏俰ष�:

I. All monkeys are cows. / I. सभी बदंर गाय ह�।     

II. No animal is a cow / II. कोई भी जानवर गाय नही ंहै

Only conclusion I follows / केवल िन၏俰ष� I िनकलता है

Only conclusion II follows / केवल िन၏俰ष� II िनकलता है
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Either I or II follows / या तो I या िफर II िनकलता है

Neither I nor II follows / न तो I और न ही II िनकलता है

Correct Answer :­Neither I nor II follows / न तो I और न ही II िनकलता ह ै

88)

Question Stimulus :­

In 1985, the profit for a certain product was 25%. In the next 3 years, the cost price increases by 10%,
10%, and 20%; also the sales price increases by 15%, 10%, and 20%. What is the profit percentage now?
/ 1985 म냿礄, एक िनि鐄त उ蜄ाद के िलए लाभ 25% थी। अगल े3 वष냿逄 म냿礄 लागत मू渄 10%, 10% एव ं20% स ेबढ़ जाता ह;ै
िव팄य मू渄 भी 15%, 10% एव ं20% स ेबढ़ जाता ह।ै लाभ का 猄냿ितशत अब ︃ा ह?ै

27.3%

30.7%

32.4%

35.7%

Correct Answer :­30.7% 

89)

Question Stimulus :­

S is the sister of M and T is M’s son. R is a doctor employed abroad. Which of the following statements is/are correct? /
S, M की बहन ह ैऔर T, M का बटेा ह।ै

िन퟿଄ म냿礄 स ेकौन स ेकथन स錄 ह�?

R is the father of T. / R, T के िपता ह�।

Definitely true. / िनि鐄त ही स錄।

Definitely not true. / िनि鐄त ही स錄 नही◌ं।

They are certainly blood rela堀倅ves. / व ेिनि鐄त ही खनू के 琄裿रꬄदेार ह�।

Cannot infer from the given data. / िदय ेगय ेडाटा स ेअनमुान नही ंलगा सकत।े

Correct Answer :­Cannot infer from the given data. / िदय ेगय ेडाटा स ेअनमुान नही ंलगा सकत।े 

90)

Question Stimulus :­

Fill in the missing alphabets / लु㌄ अ偌�र भ琄裿रए
(77)
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ab__abb__ba__b__

a, a, a, b

a, b, a, b

b, a, a, a

b, a, b, a

Correct Answer :­a, a, a, b 

91)

Question Stimulus :­

The ratio of savings of P,Q and R are in the ratio of 4:2:3 and the savings Q is
Rs.250 more than that of P. What is the savings of R? / P, Q एव ंR के बचत का अनपुात
4:2:3 ह ैएव ंQ का बचत P के बचत स े250 �० अिधक ह।ै R का बचत ︃ा ह?ै

400

275

300

375

Correct Answer :­375 

92)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह कथन चिुनय ेजो
िदय ेगय ेकथनो ंएव ंिन၏俰ष냿逄 के बारे म냿礄 सही ह�:

Statements: / कथन:  

All baskets are balls. / सभी बा甄냿伄ट ग냿礄द ेह�।

All balls are bats. / सभी ग냿礄द ेब漄 ेह�।

 

Conclusions: / िन၏俰ष�:

1.All baskets are bats. / I. सभी बा甄냿伄ट ब漄 ेह�।

2.All bats are baskets / II. सभी ब漄 ेबा甄냿伄ट ह�।
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Only conclusion I follows / केवल िन၏俰ष� I िनकलता है

Only conclusion II follow / केवल िन၏俰ष� II िनकलता है

Either I or II follows / या तो िन၏俰ष� I या िफर िन၏俰ष� II िनकलता है

Neither I nor II follows / न तो िन၏俰ष� I और न ही िन၏俰ष� II िनकलता है

Correct Answer :­Only conclusion I follows / केवल िन၏俰ष� I िनकलता ह ै

93)

Question Stimulus :­

 P + Q means P is the brother of Q / P + Q का मतलब ह ैP, Q का भाई है

P  = Q  means P is the wife of Q / P  = Q   का मतलब ह ैP, Q की प蔄ी है

P  % Q  means P is the mother of Q / P  % Q  का मतलब ह ैP, Q की माता है

P  @  Q  means P is the sister of Q / P  @  Q  का मतलब ह ैP, Q की बहन है

P  #  Q  means P is the father of Q / P  #  Q  का मतलब ह ैP, Q के िपता ह�

 

If A = B + C % D then, which of the following will be always true? / यिद A = B + C % D तो, िन퟿଄ म냿礄 स ेकौन स ेहमशेा स錄
होगं?े

D is son of C / D, C का बटेा है

A is mother of D / A, D की माता है

B is maternal uncle of D / B, D के मामा ह�

A is brother‐in‐law of C / A, C का दवेर है

Correct Answer :­B is maternal uncle of D / B, D के मामा ह� 

94)

Question Stimulus :­

The average of four consecutive odd numbers is 54. The largest of these number is: /  चार
팄मागत िवषम सᐄंाओ ंका औसत 54 ह।ै इनम냿礄 स ेसबस ेबड़ी सᐄंा ह:ै

67

77

57
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47

Correct Answer :­57 

95)

Question Stimulus :­

4% of 900 is / 900 का 4% ह:ै

46

36

56

66

Correct Answer :­36 

96)

Question Stimulus :­

At present, the ratio between the ages of Jegan and Bala is 4 : 5. After 8 years, Jegan’s age will be 28
years. What is the age of Bala at present?/ वत�मान म냿礄, िजगन और बाला की आय ुके बीच का अनपुात 4 : 5 ह।ै 8
वष냿逄 बाद, िजगन की आय ु28 वष� हो जायगेी। वत�मान म냿礄 बाला की आय ुिकतनी ह?ै

20 years /  20 वष�

25 years /  25 वष�

30 years /  30 वष�

35 years /  35 वष�

Correct Answer :­25 years /  25 वष� 

97)

Question Stimulus :­

CANCELLED

Rahul told Bunty that Sunny is his father’s nephew, Deepu is Rahul’s cousin, but not brother of Sunny. How is Deepu
related to Sunny? / रा엿켄ल न ेबटंी को कहा िक स⬀ी उसके िपता का भतीजा ह,ै दीप ूरा엿켄ल का चचरेा भाई ह,ै लिेकन स⬀ी का
भाई नही ंह।ै दीप ूस⬀ी स ेकैस ेसबंिंधत ह?ै

Father / िपता
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Mother / माता

Sister / बहन

Aunt / आटंी

Correct Answer :­Sister / बहन 

98)

Question Stimulus :­

What is the time taken by a train of length 200 m to cross a bridge of length 250 m, running at a speed of
45 m/s? / 45 मीटर/सके猄 की गित स ेदौड़न ेवाली एक 200 मीटर लबंी रेलगाड़ी को 250 मीटर लबं ेपलु को पार
करन ेम냿礄 िकतना समय लगगेा?

10 sec / 10 सके猄

15 sec / 15सके猄

20 sec / 20सके猄

25 sec / 25सके猄

Correct Answer :­10 sec / 10 सके猄 

99)

Question Stimulus :­

Father is four times as old as his son. Four years hence, the sum of their ages will be 43 years. The ages of the son
and the father are respectively:/ िपता की आय ुउसके लड़के की आय ुकी चार गनुा ह।ै उसके चार साल बाद, उनकी आयु
का योग 43 वष� होगा। 팄मश: िपता और लड़के की आय ुह:ै

7 and 28 years/ 7 और 28 वष�

5 and 27 years/5 और 27 वष�

3 and 26 years/ 3 और 26 वष�

None of the above/ उपय�ु踄 म냿礄 स ेकोई नहीं

Correct Answer :­7 and 28 years/ 7 और 28 वष� 

100)

Question Stimulus :­

4/3th of 42 is / 42 का 4/3 ह:ै

(81)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


46

56

36

66

Correct Answer :­56 
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